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Twentieth International Mathematics Contest(Taiwan)
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1. There are 456 oranges, and every 6 oranges are put into a pack. After all the oranges are packed,
how many oranges are left? (A)0 (B)1 (C)2 (D)3
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456+6=76.....0
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1 o2 470  2=1470 £ &

125%14=1750

1750-1470=280
280+(125-90)=8 » £ C -
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7 =3+3+1.5=7.5

¢ =3+3=6

P =8+4=12

7 =4+8=12
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48x2=18 » 48-18=30 » 30:3=10 + B -

5. Fill in “+7, “=”, “x”, and “+” once in each of the circles below, so that the expression below
becomes a correct number sentence. What number must filled in the box? (A)7 (B)8 (C)9
(D)10

30506=80407=]
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7= 14> ¢ = [+14

it @ 5 6—>p = H+14-6=[ 48

Fot g 127 = +8-12=[ -4

[ -14+ +14+ +8+ 1-4=172

[ [x4=168 > [ =42
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8 ez Hee e #=8 ~ 16 ~ 24 ~ 32 ~ 40 ~ 48~ 56 ~ ...

9+@=8 ~ 9+@=6 ~ 9+@=4 - 9+@=2 ~ 9+@=0

@-=9 > 499+289=788 > 788+8=98. ...

@=1 - 419+281=700 > 700+-8=87....
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@-=>5 > 459+285=T744 > 744+8=93....

@-=3 > 439+283=722 > 722+8=90....
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1. Please calculate the value of 8x4x7+7x19x8+4x23x8. The value 1s
<fE47>

8xAxT+Tx19x8+4x23x8

=8x(28+133+92)=8x253=2024
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30+(2+1)=10

10x2-3=17
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[ +15=100

[ x5=85

[ =17 » % & =17x4=68

International Mathematics Contest (Taiwan) &% F4k)



5. The time now is 3:30. The minimum angle between the hour hand and the minute

hand is
<f#47>
30+2=15
90-15=75
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148-4=144

144+6=24 » 144:8=18 » 14439=16
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2+8=10
10+(16-14)=5
5x14+2=72
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# B :3a-150 % #:a+150

3a-150-356=a+150+356

3a-506=a+506

2a=1012 » a=506

3a-150+a+150=4a=506x4=2024
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356+356=712

(7124+150+150)+(3-1)=1012+2=506

506x(3+1)=2024
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[ Ix4+8=Ax5+5=[_J+A+25

[Ixd+8+ AxS+5= HA+25+_ J+/A+25

[Ix2+/Ax3=37

(=2 A=11(% ) > [J=5 A=9(% &) [J=8 > A=T7

* =8 > [P Ag=T7 > L =8+7+25=40
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110 A 45 j\;,l._%
B #=5x10=50 => = » % F =10x5+0x5=50 => ®
350+5=70 ~ 48 (2 &)
70+(5+6)=6.....4
6x5x10+10x4=340 (2 %)
350-340=10 (1 %)
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